MATH 11012

Section 1

Find the product.

10.

11.

12.

13.

14.

15.

16.

(4 — 7)(3z + 2)

(3 +2)(3x — 2)

(22 4 3)(z* — b5z +7)

(2z — 3y)(2z + 3y)

(42 — 3)(22* — 3z — 1)

(32 + 4y)?

(x4 1)(x—2)(x+3)

3y(2y — 3)(y +2)

(3z +5)(z — 2)?

z(x+1)(z+2)

22(r —2)(2z — 1)

(r+2)3

(z—3)°

(3z +2)?

(22 —1)3

(z +2y)°

ALGEBRA REVIEW PROBLEMS

Section 2

Factor completely.

10.

11.

12.

13.

14.

15.

16.

x? — 16

472 — 25

22 —Tr+ 12

2?4 4r — 12

2¢% —Tr — 15

32— —2

102? — 33z — 7

422 — 1224+ 9

1227 + bz — 2

922 + 30z + 25

3x2 + 122 — 36

22 + 2x — 24

5% + 5x — 10

3z — 3z — 18

1022 — 50z — 240

33 — 2?2 — 2

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

203 — 22 —x

1223 + 722 +

3x3 — 5x? + 2

2 — 522 + 6z

2723 + 8

8x3 — 27

1 — 6423

3 — 8x% + 2x — 16

23— 322+ T — 21

323 + 22+ 152 +5

2(x +5)2—3(z +5)

5(x+7)* —3z(z+7)

3z(z —2) + 5(x — 2)?

20(x + 1)+ 7(z +1)?



Section 3

Simplify the given expression.
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Section 4
Solve for z.
1. 62243x=0
2. 22—-2r—-8=0
3. 224+ 10x+25=0
4. 345xr—222=0
5 922 —-1=0
6. 224+ 14x+44=0
7. 22 =10 +9=0
8. 16224 56x+49=0

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

222 = 192 + 33

22 4+8r—4=0

122 — 922 = =3

22 4+6r+2=0

22+ 8r+14=0

972 — 120 — 14 =0

362 4+ 242 — 7 =0

4o +4x =17
(r —5)?2 =2z
3at = 4822

23 =322 =3x+9=0

2t —322+2=0

V2 +T7T—2=2

V2r —10=0

r =11z — 30




